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= 39,990 0 39,990
= 1,304,465 1,318,730 5,735
ol o plgel 2 1,467,095 1,418,887 48,208
= 229,962 228,917 1,045
s 39,990 0 39,990
= 1,197,143 1,189,970 7,173
IEEERE 207,233 154,779 52,459
= 99,052 83,284 10,768
= 39,990 0 39,990
= 68, 196 66,495 1,701
HEHF T O EEZ U MUK 117,463 27,781 ~10,318
= 78,223 85,003 26,870
= 39,240 42,683 A3,448
308 X+XI €A S0l & 117,463 127,781 ~10,318
= 78,223 85,003 26,870
= 39,240 42,688 A3,448
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= 78,223 85,003 26,870
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= 6,249 957 5,20
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QI ABAL 2= 40,800 163,200 122,400
= 24,000 96,000 AT72,000
[= 16,800 67,200 250,400
403 XX SIS K20 A 40,800 163,200 A122,400
= 24,000 96,000 272,000
[= 16,800 67,200 250,400
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